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3417125

Which of these shows seven thousand nine hundred 
ninety-seven?

A. 7,097

B. 7,997

C. 797

D. 709
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Jesse wants to buy the jump rope pictured below.

Which of these would be enough money for Jesse to buy the
jump rope?

$3.58
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A. C.

B. D.
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Oscar fell asleep at the time shown on the clock below.

Which is a correct way to say the time shown on the clock?

A. Nine-fifteen

B. Three forty-five

C. Quarter to nine

D. Three-fifteen

12

6

9 3
2

4
57

8

10
11 1
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Marcia is creating a pattern in her flower garden as shown in
the picture. She begins her pattern with 3 flowers in the first
row. Each row of flowers then increases by the same number.

Each row of flowers will continue to increase by the same
number. What will be the total number of flowers in 
Row 5 of Marcia’s garden?

A. 9

B. 11

C. 12

D. 15

? ?

Row 1

Row 2

Row 3

Row 4

Row 5 ?

00

               98



Page 13

����� � ���� ��� ������������

���� � �� ������ ����

����

�������� ������

��� ������

�

������� ������

�

� �����

����

���� ����

�����

��������������

�����

���

��� �������

������ �������

���� �������

�

�

��

�

�

�

��

��

��

��

�

��

��

��

�

�

��

��

�

�

�

�

�

�

�

�

�

�

���� �������

���

��� �������

������ �������

���� �������

�

�

��

�

�

�

��

��

��

��

�

��

��

��

�

�

��

��

�

�

�

�

�

�

�

�

�

�

���� �������

�� ���� ������ ���������������

�

������

�

�� ���� ������ ���������������

�

������

�

�����

�

������

�

������

������



Page 14

3338306

Draw one line of symmetry on the shape shown below. 

In the space below, explain why the line you drew is a
line of symmetry.

____________________________________________________

____________________________________________________

____________________________________________________
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Score Point 2 
The response is complete and accurate. The line of symmetry is drawn correctly. 
The explanation is accurate. The student draws the pentagon folded evenly in half, 
then draws the reopened pentagon to show two eqeal halfs along the line of 
symmetry. 

Score Point 1 
The response is incomplete. The student does draw the line of symmetry 
correctly, and receives credit. However, no explanation is provided. 
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Score Point 2 
The response is complete and accurate. The line of symmetry is drawn correctly. 
The explanation is accurate. The student draws the pentagon folded evenly in half, 
then draws the reopened pentagon to show two eqeal halfs along the line of 
symmetry. 

Score Point 1 
The response is incomplete. The student does draw the line of symmetry 
correctly, and receives credit. However, no explanation is provided. 
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Score Point 0 
The response shows no understanding of how to successfully complete the task. 



Score Point 0 
The response shows no understanding of how to successfully complete the task. 
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